

次の計算をなさい。

$$(1) \frac{11}{8} \times \frac{16}{55} \div \frac{6}{25} = \frac{5}{3}$$

$$(2) \frac{7}{20} \times \frac{2}{35} \div \frac{3}{50} = \frac{1}{3}$$

$$(3) \frac{14}{3} \div \frac{42}{13} \times \frac{10}{39} = \frac{10}{27}$$

$$(4) \frac{22}{65} \div \frac{24}{13} \times \frac{40}{11} = \frac{2}{3}$$

$$(5) \frac{99}{100} \times \frac{8}{11} \div \frac{6}{25} = 3$$

$$(6) \frac{23}{24} \div \frac{5}{16} \div \frac{69}{5} = \frac{2}{9}$$

$$(7) \frac{61}{51} \div \frac{15}{34} \div \frac{122}{3} = \frac{1}{15}$$

$$(8) \frac{55}{72} \div \frac{35}{9} \div \frac{22}{21} = \frac{3}{16}$$

$$(9) \frac{37}{40} \div \frac{27}{160} \times \frac{9}{74} = \frac{2}{3}$$

$$(10) \frac{15}{77} \times \frac{7}{55} \div \frac{3}{11} = \frac{1}{11}$$